20km

GM

Nal

23 4 18

13 00

1 60k 18 8 35 127
2 55K 18 9 06 2272
3 45K 18 10 13 267
10 40K 18 9 27 10"
11 40k 18 9 35 147
12 40K 18 10 03 0272
13 40K 18 10 20 0572
14 35K 18 10 28 037
15 35K 18 10 39 10"
31 30k 18 9 48 1147
32 30k 18 10 14 2862
33 30K 18 10 26 155"
36 40K 18 9 30 4572
37 50km 18 10 03 297
39 ( 45km 18 10 36 06"
79 30k 18 10 53 17.5™
85 60km 18 6 00 077
86 55km 18 6 00 10"
87 30km 18 7 00 127
101 18 9 32 10"

55km




R

86
10

12
0.2

&

2.2

101 37
1.0 29
1=
i )
A%t

3 39
2.6 0.6
33
155 32
28.6
79
175
<D
C%%b
X
%
1.r:~:t~:: =




K BREBFEHEHE )

D=

BlELITHOLR
[250,000%440—A" L/ 5E]

50,000

FSUN-HINID

[10,0009198—=A Wb/ 5] saiig cem. ksenens)

/fi;i, g’kﬁ\\
[2.400940Y—A" W h/4E] | FED5030 &S00

2 4

| kHHS048 B
! 5 KuhGa126

KO NBEAEmSY

TA%YD
B AR (A

s < #ll
(A

(!ﬂsllilli‘-]fi‘mﬁmﬁv‘c}
[400v1HBY—A" Wb/ 4]

R — = 1—3— VTR (38
(BEIC & 2 FEROMEMm)

[200v490Y—A" Wb /1E1E]

. e BUETH 5 ORH SN
[22v190Y—A W1/ 5] mﬁ:;zﬁm (EA0) =

U727 ALNVEHD

[1094909—A"b/4E] 7 aanei cn

(7 III*‘/—'\'H‘)
250,000
100,000

REERFOEEICROLN TS LR

[100,000v440Y—A"JLb/4E]
TEHREBREER UK IR EE-HE
HEBEHIZEHONTWS LR .

<«— [50,000944909=A" b/ £E]

B e -2

HBERE (CTAF 2] (1E)

[6,900v44/0—A")L+/[E]]

R ARORBEE ()

(EMEC) % l
ol

[1,00074905—A" b/ 4E ]

ﬂ ROXGEFEE (18)
4 [600v49aY—A"V}/[E]]

- [50%4498%—A Vb /[E]]
S HOXRRERE (18

[50%449RY—A" L/ 4]
FFHRERURR (BAF) R0

@ R BRE (Fh)
(RATRCOBMAELRICTR>TWEY)

X Sv [L—ARILR]=HGFHRDFRERICEILEMHRDOERCK) x Gy [TL1]

BRIAIILF—TTRFH2002 1L EIXEHFEICE N TER

X X#R. r#RTIE 1



	日常生活と放射線
	スライド番号 1


